

EXTENDING THE APPLICABILITY OF AN ULM-NEWTON-LIKE METHOD UNDER GENERALIZED CONDITIONS IN A BANACH SPACE

IOANNIS K. ARGYROS¹ AND SANTHOSH GEORGE²

Abstract. The aim of this paper is to extend the applicability of an Ulm-Newton-like method for approximating a solution of a nonlinear equation in a Banach space setting. The sufficient local convergence conditions are weaker than those in the earlier works leading to a larger radius of convergence and more precise error estimations on the distances involved. Numerical examples are also provided.

1. INTRODUCTION

In this study we are concerned with the problem of approximating a locally unique solution x_* of the equation

$$F(x) = 0, \quad (1.1)$$

where F is a Fréchet-differentiable operator defined on a convex subset Ω of a Banach space \mathcal{B}_1 with values in a Banach space \mathcal{B}_2 .

A large number of problems in applied mathematics and also in engineering are solved by finding the solutions of certain equations. For example, dynamic systems are mathematically modeled by the difference or differential equations, and their solutions represent usually the states of the systems. For the sake of simplicity, assume that a time-invariant system is driven by the equation $\dot{x} = R(x)$, for some suitable operator R , where x is the state. Then the equilibrium states are determined by solving equation (1.1). Similar equations are used in the case of discrete systems. The unknowns of engineering equations may be functions (difference, differential, and integral equations), vectors (systems of linear or nonlinear algebraic equations) and real or complex numbers (single algebraic equations with single unknowns). Except in special cases, the most commonly used solution methods are iterative, that is, when starting from one or several initial approximations, a sequence is constructed that converges to a solution of the equation. Iteration methods are also applied for solving optimization problems. In such cases, the iteration sequences converge to an optimal solution of the problem at hand. Since all of these methods have the same recursive structure, they can be introduced and discussed in a general framework.

Moser in [13] proposed the following Ulm's-like method for generating a sequence $\{x_n\}$ approximating x_* :

$$x_{n+1} = x_n - B_n F(x_n), \quad B_{n+1} = 2B_n - B_n F'(x_n) B_n. \quad (1.2)$$

Method (1.2) is useful when the derivative $F'(x_n)$ is not continuously invertible (as in the case of small divisors [1–8, 10, 11, 13–15]). Moser studied the semi-local convergence of method (1.2) and showed that the order of convergence is $1 + \sqrt{2}$ if $F'(x_*) \in L(\mathcal{B}_2, \mathcal{B}_1)$. However, the order of convergence is faster than the Secant method (i.e., $\frac{1+\sqrt{5}}{2}$). The quadratic convergence can be obtained if one uses Ulm's method [14, 15] defined for each $n = 0, 1, 2, \dots$ by

$$\begin{aligned} x_{n+1} &= x_n - B_n F(x_n), \\ B_{n+1} &= 2B_n - B_n F'(x_{n+1}) B_n. \end{aligned} \quad (1.3)$$

2010 *Mathematics Subject Classification.* 65H10, 65G99, 65J15, 49M15.

Key words and phrases. Ulm's method; Banach space; Local/semi-local convergence.

The semi-local convergence of method (1.3) has also been studied in [1–9]. As far as we know, the local convergence analysis of methods (1.2) and (1.3) has not been given. In the present paper, we study the local convergence of Ulm’s-like method defined for each $n = 0, 1, 2, 3, \dots$ by

$$x_{n+1} = x_n - B_n F(x_n), \quad B_{n+1} = 2B_n - B_n A_{n+1} B_n, \quad (1.4)$$

where A_n is an approximation of $F'(x_n)$. Notice that method (1.4) is inverse free, the computation of $F'(x_n)$ is not required and the method produces successive approximations $\{B_n\} \approx F'(x_*)^{-1}$.

In Section 2, we present the local convergence analysis of method (1.4) and in Section 3, we present the numerical examples.

2. LOCAL CONVERGENCE ANALYSIS

The local convergence analysis of method (1.4) is given in this section. Denote by $U(v, \xi)$ and $\bar{U}(x, \xi)$ the open and closed balls in \mathcal{B}_1 , respectively, with center $v \in \mathcal{B}_1$ and of radius $\xi > 0$.

Let $w_0 : [0, +\infty) \rightarrow [0, +\infty)$ and $w : [0, +\infty) \rightarrow [0, +\infty)$ be continuous and nondecreasing functions satisfying $w_0(0) = w(0) = 0$. Let also $q \in [0, 1)$ be a parameter. Define functions φ and ψ on the interval $[0, +\infty)$ by

$$\varphi(t) = \left[q \left(\int_0^1 w(\theta t) d\theta + 1 \right) + w_0(t) \right] t$$

and

$$\psi(t) = \varphi(t) - 1.$$

We have that $\psi(0) = -1$ and for sufficiently large $t_0 \geq t$, $\psi(t_0) > 0$. By the intermediate value theorem equation $\psi(t) = 0$ has solutions in the interval $(0, t_0)$. Denote by ρ the smallest such a solution. Then for each $t \in [0, \rho)$, we have

$$0 \leq \psi(t) < 1. \quad (2.1)$$

We need to show an auxiliary perturbation result for method (1.4).

Lemma 2.1. *Let $F : \Omega \subseteq \mathcal{B}_1 \rightarrow \mathcal{B}_2$ be a continuously Fréchet-differentiable operator. Suppose that there exist $x_* \in \Omega$, $\{M_n\} \in L(\mathcal{B}_2, \mathcal{B}_1)$, $\{q_n\}$, $q \in \mathbb{R}_0^+$, continuous and nondecreasing functions $w_0 : [0, +\infty) \rightarrow [0, +\infty)$ and $w : [0, +\infty) \rightarrow [0, +\infty)$ such that for each $x \in \Omega$, $n = 0, 1, 2, \dots$ and $\theta \in [0, 1]$*

$$F(x_*) = 0, \quad F'(x_*)^{-1} \in L(\mathcal{B}_2, \mathcal{B}_1),$$

$$\|F'(x_*)^{-1}(F'(x_* + \theta(x - x_*)) - F'(x_*))\| \leq w(\theta\|x - x_*\|), \quad (2.2)$$

$$\|F'(x_*)^{-1}(F'(x) - F'(x_*))\| \leq w_0(\theta\|x - x_*\|), \quad (2.3)$$

$$\|F'(x_*)^{-1}(A_n - F'(x_n))\| \leq q_n \|F'(x_*)^{-1}F(x_n)\| \quad (2.4)$$

for each $x, x_n \in \Omega_0 := \Omega \cap B(x_*, \rho)$,

$$\sup_{n \geq 0} q_n \leq q, \quad (2.5)$$

$$x_n \in B(x_*, r_0)$$

and

$$B(x_*, r_0) \subseteq \Omega,$$

where

$$r_0 \in (0, \rho). \quad (2.6)$$

Then the following items hold

$$\|F'(x_*)^{-1}F(x_n)\| \leq \left(\int_0^1 w(\theta\|x_n - x_*\|)d\theta + 1 \right) \|x_n - x_*\|, \quad (2.7)$$

$$\|F'(x_*)^{-1}[A_n - F'(x_n)]\| \leq q \left(\int_0^1 w(\theta\|x_n - x_*\|)d\theta + 1 \right) \|x_n - x_*\|, \quad (2.8)$$

$$A_n^{-1} \in L(\mathcal{B}_2, \mathcal{B}_1) \quad (2.9)$$

and

$$\|A_n^{-1}F'(x_*)\| \leq \frac{1}{1 - \varphi(\|x_n - x_*\|)} \text{ hold.} \quad (2.10)$$

Proof. We shall show first that estimation (2.8) holds. Using (2.1), we have the identity

$$\begin{aligned} F(x_n) - F(x_*) &= F(x_n) - F(x_*) = F(x_n) - F'(x_*)(x_n - x_*) + F'(x_*)(x_n - x_*) \\ &= \int_0^1 [F'(x_* + \theta(x_n - x_*)) - F'(x_*)](x_n - x_*)d\theta. \end{aligned} \quad (2.11)$$

Then by (2.3) and (2.11), we have

$$\begin{aligned} \|F'(x_*)^{-1}F(x_n)\| &\leq \int_0^1 \|F'(x_*)^{-1}[F'(x_* + \theta(x_n - x_*)) - F'(x_*)]\|d\theta \|x_n - x_*\| \\ &\quad + \|x_n - x_*\| \\ &\leq \left(\int_0^1 w(\theta\|x_n - x_*\|)d\theta + 1 \right) \|x_n - x_*\|, \end{aligned}$$

which shows estimation (2.7). Moreover, by (2.4), (2.5) and (2.7), we obtain

$$\|F'(x_*)^{-1}[A_n - F'(x_n)]\| \leq q_n \|F'(x_*)^{-1}F(x_n)\| \leq q \left(\int_0^1 w(\theta\|x_n - x_*\|)d\theta + 1 \right) \|x_n - x_*\|,$$

which shows estimation (2.8). Furthermore, using (2.2), (2.3), (2.7), (2.8) and the definition of r_0 , we get

$$\begin{aligned} \|F'(x_*)^{-1}[A_n - F'(x_*)]\| &\leq \|F'(x_*)^{-1}[A_n - F'(x_n)]\| \\ &\quad + \|F'(x_*)^{-1}[F'(x_n) - F'(x_*)]\| \\ &\leq \varphi(\|x_n - x_*\|) \\ &\leq \varphi(r_0) < 1. \end{aligned} \quad (2.12)$$

It follows from (2.12) and the Banach lemma on invertible operators [1, 5, 6, 11] that (2.9) and (2.10) hold. \square

Remark 2.2. In earlier studies the Lipschitz condition [1–15]

$$\|F'(x_*)^{-1}[F'(x) - F'(y)]\| \leq w_1(\|x - y\|) \text{ for each } x, y, \in \Omega \quad (2.13)$$

is used which is stronger than our conditions (2.2) and (2.3). Notice also that since $\Omega_0 \subseteq \Omega$,

$$w(t) \leq w_1(t) \quad (2.14)$$

and

$$w_0(t) \leq w_1(t), \quad (2.15)$$

where the function w_1 is the same as the function w , but defined on Ω instead of Ω_0 . The ratio $\frac{w_0}{w_1}$ may be arbitrarily large [1, 5, 6]. Moreover, if (2.13) is used instead of (2.2) and (2.3) in the proof of

Lemma 2.1, then the conclusions hold provided that r_0 is replaced by r_1 which is the smallest positive solution of the equation

$$\psi_1(t) = 0, \quad (2.16)$$

where $\psi_1(t) = \varphi_1(t) - 1$ and $\varphi_1(t) = [q(\int_0^1 w_1(\theta t)d\theta + 1) + w_1(t)]t$. It follows from (2.7), (2.14), (2.15), (2.16) that

$$r_1 \leq r_0. \quad (2.17)$$

Furthermore, the strict inequality holds in (2.17), if (2.14) or (2.15) hold as strict inequalities. Finally, estimations (2.8) and (2.9) are tighter than the corresponding ones (using (2.13)) given by

$$\|F'(x_*)^{-1}[A_n - F'(x_n)]\| \leq q \left(\int_0^1 w_1(\theta \|x_n - x_*\|)d\theta + 1 \right) \|x_n - x_*\|.$$

Let λ be a parameter satisfying $\lambda \in [0, 1)$. Let also $w_2 : [0, \rho) \rightarrow [0, +\infty)$ be a continuous and nondecreasing function. Moreover, define the functions $\alpha : [0, \rho) \rightarrow [0, +\infty)$, $\beta : [0, \rho) \rightarrow [0, +\infty)$, $f : [0, \rho) \rightarrow [0, +\infty)$ and $g : \beta : [0, \rho) \rightarrow [0, +\infty)$, by $\alpha(t) = \frac{1}{1-\varphi(t)}$, $\beta(t) = 2q(1 + \int_0^1 w(\theta t)d\theta)t + 2w_0(t)$, $f(t) = \alpha(t)\beta(t) - \lambda g(t) = \lambda^2 + (1 + \lambda^2)\alpha(t) \int_0^1 w_2((1 - \theta)t)d\theta - 1$, sequences $\alpha_k, \beta_k, \gamma_k$ by $\alpha_k = \frac{1}{1-\varphi(\|x_k - x_*\|)}$, $\beta_k := q(1 + \int_0^1 w(\theta \|x_{k+1} - x_*\|)d\theta)\|x_{k+1} - x_*\| + q(1 + \int_0^1 w(\theta \|x_k - x_*\|)d\theta)\|x_k - x_*\| + w_0(\|x_{k+1} - x_*\|) + w_0(\|x_k - x_*\|)$, $d_0 = \gamma_0$, $\gamma_k = \|I - B_k A_k\|^2 + 2\|I - B_k A_k\| \|A_{k+1} - A_k\| + \|B_k\|^2 \|A_{k+1} - A_k\|^2$, parameters α, β by $\alpha = \alpha(r_0)$, $\beta = \beta(r_0)$ and quadratic equation $(1 + \alpha\beta)t^2 + 2\alpha\beta(1 + \alpha\beta)t + (\alpha\beta)^2 - \lambda^2 = 0$. Then we have $f(0) = -\lambda < 0$ and $f(t) \rightarrow +\infty$ as $t \rightarrow \rho^-$. Denote by ρ_0 the smallest solution of equation $f(t) = 0$ in $(0, \rho)$. Then we find that for each $t \in (0, \rho_0)$,

$$0 < \alpha(t)\beta(t) < \lambda.$$

In view of the above inequality, the preceding quadratic equation has both a unique positive solution denoted by ρ_+ and a negative solution. Define parameter γ by

$$0 \leq \gamma < \gamma_0 = \min\{\rho_+, \rho_0, r_0\}. \quad (2.18)$$

Then we have

$$(1 + \alpha\beta)\gamma^2 + 2\alpha\beta(1 + \alpha\beta)\gamma + (\alpha\beta)^2 < \lambda^2.$$

Notice that we also have $\alpha_k \leq \alpha$ and $\beta_k \leq \beta$.

Next, we present the local convergence of method (1.4).

Theorem 2.3. *Under the hypotheses of Lemma 2.1 and with r_0 given in (2.6) for $\lambda \in [0, 1)$, we further suppose that there exists the function $w_2 : [0, r_0) \rightarrow [0, +\infty)$, continuous and nondecreasing such that for each $x \in B(x_*, r_0)$ $\theta \in [0, 1]$ and*

$$\|A_n^{-1}\| \leq \frac{1}{1 - \varphi_1(\|x_n - x_*\|)} < \varphi_1(r_1)$$

we have

$$\|F'(x_*)^{-1}[F'(x_* + \theta(x - x_*)) - F'(x)]\| \leq w_2((1 - \theta)\|x - x_*\|) \quad (2.19)$$

for each $x \in \Omega_0 = \Omega \cap B(x_*, r_0)$,

$$\|I - B_0 A_0\| \leq d_0 < \lambda^2 \quad (2.20)$$

and

$$B(x_*, \gamma) \subseteq \Omega,$$

where γ is given in (2.18). Then the sequence $\{x_n\}$ generated by method (1.4) for $x_0 \in B(x_*, \gamma) - \{x_*\}$ is well-defined, remains in $B(x_*, \gamma)$ and converges to x_* .

Proof. By hypothesis (2.20), we have $\|I - B_0 A_0\| \leq \gamma_0 < \lambda^2$, so

$$\|I - B_k A_k\| \leq \gamma_k < \lambda^2 \quad (2.21)$$

is true for $k = 0$. Suppose that (2.21) is true for all integers smaller or equal to k . Using Lemma 2.1, we have the estimations

$$\begin{aligned}\|B_k\| &= \|B_k A_k A_k^{-1}\| \leq \|B_k A_k\| \|A_k^{-1}\| \\ &\leq (1 + \|I - B_k A_k\|) \|A_k^{-1}\| \\ &\leq (1 + \gamma_k) \frac{1}{1 - \varphi(\|x_k - x_*\|)} \leq (1 + \gamma_k) \alpha_k.\end{aligned}$$

In view of method (1.4) for $n = k$, we can write in turn that

$$\begin{aligned}x_{k+1} - x_* &= x_k - x_* - B_k(F(x_k) - F(x_*)) \\ &= [I - B_k F'(x_k)](x_k - x_*) \\ &\quad + \int_0^1 B_k(F'(x_k) - F'(x_* + \theta(x_k - x_*)))(x_k - x_*) d\theta.\end{aligned}\tag{2.22}$$

Using (2.22), we get

$$\|x_{k+1} - x_*\| \leq \|I - B_k F'(x_k)\| \|x_k - x_*\| + \frac{L_2}{2} \|B_k\| \|x_k - x_*\|,$$

since $\|x_k - x_*\| \leq \rho$ and $\|x_* + \theta(x_k - x_*) - x_*\| \leq \theta \|x_k - x_*\| \leq \rho$. We By Lemma 2.1 and the induction hypotheses we also have

$$\begin{aligned}&\|F'(x_*)^{-1}(A_{k+1}) - A_k\| \\ &\leq \|F'(x_*)^{-1}(A_{k+1} - F'(x_{k+1}))\| \\ &\quad + \|F'(x_*)^{-1}(F'(x_{k+1}) - F'(x_k))\| + \|F'(x_*)^{-1}(A_k - F'(x_*))\| \\ &\leq \|F'(x_*)^{-1}(A_{k+1} - F'(x_{k+1}))\| + \|F'(x_*)^{-1}(A_k - F'(x_k))\| \\ &\quad + \|F'(x_*)^{-1}(F'(x_{k+1}) - F'(x_*))\| + \|F'(x_*)^{-1}(F'(x_k) - F'(x_*))\| \\ &\leq \|F'(x_*)^{-1}(A_{k+1} - F'(x_{k+1}))\| + \|F'(x_*)^{-1}(A_k - F'(x_k))\| \\ &\quad + \|x_{k+1} - x_*\| + \|x_k - x_*\| \\ &\leq q \left(1 + \int_0^1 w(\theta \|x_{k+1} - x_*\|) d\theta\right) \|x_{k+1} - x_*\| \\ &\quad + q \left(1 + \int_0^1 w(\theta \|x_k - x_*\|) d\theta\right) \|x_k - x_*\| \\ &\quad + w_0(\|x_{k+1} - x_*\|) + w_0(\|x_k - x_*\|) \\ &\leq \beta_k \leq \beta.\end{aligned}$$

By the definition of method (1.4), we have the estimations

$$I - B_{k+1} A_{k+1} = I - (2B_k - B_k A_{k+1} B_k) A_{k+1} = (1 - B_k A_{k+1})^2.\tag{2.23}$$

Then by (2.23) and (2.22) for $n = k$, we get

$$\begin{aligned}\|I - B_{k+1} A_{k+1}\| &\leq (\|I - B_k A_k\| + \|B_k\| \|A_{k+1} - A_k\|)^2 \\ &\leq \|I - B_k A_k\|^2 + 2\|I - B_k A_k\| \|B_k\| \|A_{k+1} - A_k\| \\ &\quad + \|B_k\|^2 \|A_{k+1} - A_k\|^2 \\ &\leq \gamma_k^2 + 2\gamma_k(1 + \gamma_k) \|A_k^{-1}\| \|A_{k+1} - A_k\| \\ &\quad + (1 + \gamma_k)^2 \|A_k^{-1}\|^2 \|A_{k+1} - A_k\|^2 \\ &\leq \gamma_k^2 + 2\gamma_k(1 + \gamma_k) \alpha \beta + (1 + \gamma_k)^2 \alpha^2 \beta^2 \\ &= (1 + \alpha \beta)^2 \gamma_k^2 + 2\alpha \beta (1 + \alpha \beta) \gamma_k + \alpha_k^2 \beta_k^2\end{aligned}$$

$$\leq (1 + \alpha\beta)^2\gamma^2 + 2\alpha\beta(1 + \alpha\beta)\gamma + \alpha^2\beta^2 < \lambda^2,$$

which shows (2.21) for $n = k + 1$. Then, using the induction hypotheses, (2.19) and the definition of γ ,

$$\begin{aligned} \|x_{k+1} - x_*\| &\leq (\lambda^2 + (1 + \lambda^2)\alpha)\|x_k - x_*\| \\ &\quad \times \int_0^1 w_2((1 - \theta)\|x_k - x_*\|)d\theta\|x_k - x_*\| \\ &< g(\gamma)\|x_k - x_*\| \leq g(\rho_+)\|x_k - x_*\| \leq c\|x_k - x_*\|, \end{aligned}$$

where $c = g(\gamma) \in [0, 1)$, so $\lim_{k \rightarrow \infty} x_k = x_*$ and $x_{k+1} \in B(x_*, \rho)$. \square

Remark 2.4.

(a) As is noted in Remark 2.2, conditions (2.3) and (2.4) can be replaced by (2.19).

$$\|F'(x_*)^{-1}[F'(x_* + \theta(x - x_*)) - F'(x)]\| \leq w_3((1 - \theta)\|x - x_*\|) \quad (2.24)$$

for each $x \in \Omega$ and $\theta \in [0, 1]$, where the function w_3 is the same as w_1 .

We have that $w_1(t) \leq w_3(t)$. Then in view of Remark 2.2 and (2.19), the radii of convergence as well as the error bounds are improved under the new approach, since old approaches use only (2.24) with the exception of our approach in [2, 4].

(b) The results obtained here can be used for operators F satisfying autonomous differential equations [1, 5, 6, 11] of the form

$$F'(x) = P(F(x)),$$

where $P : \mathbb{R} \rightarrow \mathbb{R}$ is a continuous operator. Then, since $F'(x_*) = P(F(x_*)) = P(0)$, we can apply the results without actually knowing x_* . For example, let $F(x) = e^x - 1$. Then we can choose $P(x) = x + 1$.

(c) The local results obtained here can be used for projection methods such as the Arnoldi's method, the generalized minimum residual method (GMRES), the generalized conjugate method (GCR) for combined Newton/finite projection methods, and in connection with the mesh independence principle can be used to develop the cheapest and most efficient mesh refinement strategies [1, 5, 6].

(d) Let L_0, L, L_1, L_2, L_3 be positive constants. Researchers choose $w_0(t) = L_0t$, $w(t) = Lt$, $w_1(t) = L_1t$, $w_2(t) = L_2t$ and $w_3(t) = L_3t$. Moreover, if we choose $\Omega_0 = \Omega$ and $L = L_1$, then our results reduce to the ones where the second order of convergence was shown with the Lipschitz conditions given in non-affine invariant form. In Example 3.1, we show that the radii are extended and the upper bounds on $\|x_n - x_*\|$ are tighter if we use w_0, w, w_2 instead of w_0 and w we have used in [4], or only w_3 as used in [2, 7–15].

3. NUMERICAL EXAMPLES

Example 3.1. Let $X = \mathbb{R}^3$, $D = \bar{U}(0, 1)$, $x^* = (0, 0, 0)^T$. Define the function F on D for $w = (x, y, z)^T$ by

$$F(w) = (e^x - 1, \frac{e-1}{2}y^2 + y, z)^T.$$

Then the Fréchet-derivative is defined by

$$F'(v) = \begin{bmatrix} e^x & 0 & 0 \\ 0 & (e-1)y + 1 & 0 \\ 0 & 0 & 1 \end{bmatrix}.$$

Notice that using the Lipschitz conditions, we get $w_0(t) = L_0t$, $w(t) = Lt$, $w_1(t) = L_1t$, $w_2(t) = L_2t$ and $w_3(t) = L_3t$, where $L_0 = L = e - 1$, $L_1 = L_3 = e$ and $L_2 = e^{\frac{1}{L_0}}$. Moreover, choose $A_n = \frac{1}{2}F'(x_n)$ to obtain $q_n = q = \frac{1}{2}$. The parameters are

$$\rho = 0.5758, r_1 = 0.4739, \bar{\rho} = 0.5499, \bar{r}_1 = 0.4739,$$

where the bar answers corresponding to the case where only w_3 is used in the derivation of the radii.

Example 3.2. Let $X = Y = \mathbb{R}^{m-1}$ for a natural integer $n \geq 2$. X and Y are equipped with the max-norm $\mathbf{x} = \max_{1 \leq i \leq n-1} x_i$. The corresponding matrix norm is

$$A = \max_{1 \leq i \leq m-1} \sum_{j=1}^{j=m-1} |a_{ij}|$$

for $A = (a_{ij})_{1 \leq i, j \leq m-1}$. On the interval $[0, 1]$, we consider the following two point boundary value problem

$$\begin{cases} v'' + v^2 = 0 \\ v(0) = v(1) = 0 \end{cases} \quad (3.1)$$

[6,8,9,11]. To discretize the above equation, we divide the interval $[0, 1]$ into m equal parts with length of each part: $h = 1/m$ and coordinate of each point: $x_i = ih$ with $i = 0, 1, 2, \dots, m$. A second-order finite difference discretization of equation (3.1) results in the following set of nonlinear equations

$$F(\mathbf{v}) := \begin{cases} v_{i-1} + h^2 v_i^2 - 2v_i + v_{i+1} = 0 \\ \text{for } i = 1, 2, \dots, (m-1) \text{ and from (3.1) } v_0 = v_m = 0, \end{cases}$$

where $\mathbf{v} = [v_1, v_2, \dots, v_{(m-1)}]^T$. For the above system-of-nonlinear-equations, we provide the Fréchet derivative

$$F'(\mathbf{v}) = \begin{bmatrix} \frac{2v_1}{m^2} - 2 & 1 & 0 & 0 & \cdots & 0 & 0 \\ 1 & \frac{2v_2}{m^2} - 2 & 1 & 0 & \cdots & 0 & 0 \\ 0 & 1 & \frac{2v_3}{m^2} - 2 & 1 & \cdots & 0 & 0 \\ \vdots & \vdots & \vdots & \vdots & \cdots & \vdots & \vdots \\ 0 & 0 & 0 & 0 & \cdots & 1 & \frac{2v_{(m-1)}}{m^2} - 2 \end{bmatrix}.$$

We see that for $A_n = \frac{9}{10}F'(x_n)$, $w_0(t) = L_0t$, $w(t) = Lt$, $w_1(t) = L_1t$, $w_2(t) = L_2t$, $w_3(t) = L_3t$, where $L_0 = L = L_1 = L_2 = 3$, $L_3 = 4$, $q = \frac{1}{10}$ and $\|F'(x_*)^{-1}\| = \frac{1}{2}$. The parameters are

$$\rho = 0.5478, r_1 = 0.5478, \bar{\rho} = 0.4762, \bar{r}_1 = 0.4762,$$

where the bar answers corresponding to the case in which only w_3 is used in the derivation of the radii.

REFERENCES

1. I. K. Argyros, *Computational Theory of Iterative Methods*. Studies in Computational Mathematics, 15. Elsevier B. V., Amsterdam, 2007.
2. I. K. Argyros, On Ulm's method for Fréchet differentiable operators. *J. Appl. Math. Comput.* **31** (2009), no. 1-2, 97–111.
3. I. K. Argyros, On Ulm's method using divided differences of order one. *Numer. Algorithms* **52** (2009), no. 3, 295–320.
4. I. K. Argyros, On an Ulm's-like method under weak convergence conditions in Banach space. *Adv. Nonlinear Var. Inequal.* **17** (2014), no. 2, 1–12.
5. I. K. Argyros, S. Hilout, *Computational Methods in Nonlinear Analysis-Efficient Algorithms*. Fixed Point Theory and Applications, World Scientific, 2014.
6. I. K. Argyros, A. A. Magreñán, *Iterative Methods and Their Dynamics with Applications*. A contemporary study. CRC Press, Boca Raton, FL, 2017.
7. W. Burmeister, Inversionsfreie Verfahren zur Lösung nichtlinearer Operatorgleichungen. (German) *Z. Angew. Math. Mech.* **52** (1972), 101–110.
8. J. A. Ezquerro, M. A. Hernández, The Ulm method under mild differentiability conditions. *Numer. Math.* **109** (2008), no. 2, 193–207.
9. J. M. Gutiérrez, M. A. Hernández, N. Romero, A note on a modification of Moser's method. *J. Complexity* **24** (2008), no. 2, 185–197.
10. O. H. Hald, On a Newton-Moser type method. *Numer. Math.* **23** (1975), 411–426.
11. L. V. Kantorovich, G. P. Akilov, *Functional analysis*. Pergamon Press, Oxford-Elmsford, N.Y., 1982.
12. I. Moret, On a general iterative scheme for Newton-type methods. *Numer. Funct. Anal. Optim.* **9(11-12)** (1988), 1115–1137.

13. J. Moser, *Stable and Random Motions in Dynamical Systems with Special Emphasis on Celestial Mechanics*. Herman Weil lectures, Annals of Mathematics Studies, vol. 77, Princeton University Press, Princeton, NJ, 1973.
14. S. Ulm, A majorant principle and the method of secants. (Russian) *Eesti NSV Tead. Akad. Toimetised Füüs.-Mat. Tehn.-tead. Seer.* **13** (1964), 217–227.
15. S. Ulm, Iteration methods with successive approximation of the inverse operator. (Russian) *Eesti NSV Tead. Akad. Toimetised Füüs.-Mat.* **16** (1967), 403–411.

(Received 20.11.2019)

¹DEPARTMENT OF MATHEMATICAL SCIENCES, CAMERON UNIVERSITY, LAWTON, OK 73505, USA

²DEPARTMENT OF MATHEMATICAL AND COMPUTATIONAL SCIENCES, NIT KARNATAKA, INDIA-575 025

E-mail address: `iargyros@cameron.edu`

E-mail address: `sgeorge@nitk.edu.in`